CAREER CENTRE ™epar tosuccess

MATH_ALGEBRA

Website- www.careercentre360.comEmail- apanacareerssm mail.comMOB 9430206005

LDC&CGL 2018

1. gfg x=2 + V5 g,dl (x° - x°) &I A &

(A) 76 (B) -52 (C) 52 (D) -76
Ans. a

2.If x+y=7 andxy = 10, then the value of(% + i) is:

y3
(A) 0.543 (B) 0.131 (€) 0.133 (D) 0.453
Ans. C
3.0 8x2+y*-12x — dxy + 9 = 0, then the value of (14x —5y) is:

(A)9 (B)6 (C)5 (D)3
Ans.B

4.1f x+y+2=19, xyz =216 and xy + yz + zx = 114, then the value of \/X3 +y3+4+2z3+xyz is:
(A)32 (B) 30 (C) 28 (D) 35
Ans.D

5.3 a+b+c=5,a°> + b + > = 27,3 a® + b2 + ¢ = 125 g, dl 4abc T AT §:
(A) 15 (B) -15 (C) 20 (D) -20
Ans. D

6. ifa® + 4b% + 49¢*> + 18 = 2(2b + 28c — a), then the value of (3a + 2b + 7¢) is:
(A)1(B)O(C)2(D)3

Ans. C

7. T 3v3x>-2v2y* = (V3x — V2y)(Ax%-Bxy+Cy?) &, ar (A%-B2+C?)ahT | &
(A)10(B) 1 (C)7 (D)17

Ans. C

8. 3 24433+ 2v2y* = (2V3x + V2y)(Ax® + Bxy +Cy?) & al (2A +V6B — C) SR &:
(A)6 (B)8(C)10(D) 14

Ans. C

9. X a+b+c=4 3N ab+bc+ca=1 & ar a + b> + ¢ -3abc FHT AT ?

(A) 47 (B) 60 (C) 52 (D) 50

Ans. C

10. I a° + b = 110 3R a+b=5 & a (a+ b)>~3abaT AT &

(A) 22 (B) 42 (C) 32 (D) 52

Ans. A
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11. 39X a+b+c=5a° + b%> + ¢? = 33 § ar a’+b3+c3-3abc &1 AT AT &2
(A) 185 (B) 192 (C) 195 (D) 180
Ans. A

12. 40V5x% - 3/3y® = (2\/§x—\/§y)(Ax2+Bxy+Cy2) g, dl VBZ+C2— A &I AT g§?
(A)9 (B)8(C)7(D)11

Ans. C
2 _ x*+x72) .
13. HIT x° + 1 —3X%-,(_‘ﬂ-maﬂ-m%-.
1 1 1 1
(A)2§(B)4§(C)21 (D)3§
Ans. C

14. 3R x+y+2=2 & xy+yz+zx=-11 & ar x> + y> + 22 - 3xyz FT AT B

(A) 148 (B) 74 (c) 152 (p) 70

Ans. B

15. 3 24v3x*+ 5v5y° = (2vV3x + V5y) x (Ax® +Bxy + Cy?) &, (A2 —B2 + C?) &l HIT T §?

(A) 109 (B) 139 (C) 108 (D) 128
Ans. A

16. T x IdEgs ¢, 3 x* - 5x° = 1 =O%,Fﬁ(x6-3x2+x%-xl6+ 1) T #ATT &
(A) 116 (B) 96 (C) 110 (D) 126

Ans. D

17.Zlﬁ(x+§= 7%,a’rx3+xig$rm?r%
(A) 343 (B) 300 (C) 322 (D) 364

Ans. C

18. 3PN 250v2x*- 5v5y® = (5v2x —VBy) x (Ax* + Bxy + Cy?) & al (A+C-/10B) T H g4
(A) 5 (B) 5v2(C) 10 (D) 2v5

Ans. A

19. I x# —1,23R 58 a9 i(zx_z;i)x;‘zjzi-xzs:f’;‘;“ FT AL AT N §:
(A) £(8) 6(C)3 (D)

Ans. B

20. 3R x+y+2=19,x°+y*+22 = 133 & Al x> + y° + 2° -Bxyz &7 HAT &
(A) 342 (B) 380 (C) 361 (D) 352

Ans. C

21. 30K 8(x+y)® — (x—y)® = (x+3y) (Ax* + Bxy + Cy?) &, @ (A-B-C) FT HT &:
(A) 10 (B) 14 (C) -6 (D) -2

Ans. D

22. 39 9a® + 16b% + 2 + 25 = 24 (a+b)§, @ (3a +4b + 5¢) FT #AA §:
(A) 10(B) 6 (C)7 (D)9

Ans. C

23. 3R X* -6x+1 =0 §,a (* +2) + (¢ + 1) &1 AA &
(A) 36 (B) 33 (C) 35 (D) 39

Ans. B

24. 38R 8(a+b)® + (a-b)® = (3a+b) (Aa®+Bab+Cb?)g, A (A+B-C) T HIT FAT &?
(A) 4 (B) 10 (C)2 (D) 11




Ans. C

25. TG x+y+2=3 3R xy+yz+2x=-18 & ar x° + v + 2-3xyz &1 AT AT &?
(A) 217 (B) 189 (C) 187 (D) 191

Ans. B

26. 3R x* + x* = 2207,(x > 0) & ar x+x| & AT g

(A)7 (B)9(C)11 (D) 19

Ans. A

27. 3R (x-7)° + (x-8 )® + (x+6)% = 3 (x=7) (x—-8) (x+6) & A xaI AT FT &2
(A) 6 (B) 3 (C) 8 (D)10

Ans. B

28. 3R a2 + b? = 88 3R ab=6, (a >0, b>0) & A (a° + b°) & AT F4T &2
(A) 1180 (B) 820 (C) 1000 (D) 980

Ans. B

29. Ifg x— %=10§',<_-ﬁ x> - X—13 T &

(A) 1000 (B) 1030 (c) 1100 (D) 970

Ans. b

30. I x+ i: 108,ar + = ae
(A) 1000 (B) 970 (C) 1100 (D) 1030

Ans. B

31. Ifg x* + x?* = 1442, (x > 0) g a x+ x| &AW L
(A) 6(B)7(C)15 (D)8

Ans. A

32. If¢ 2% + b2 =99 3R ab=11,(a >0,b > 0) & ¥ (a° + b%) &1 A &
(A) 1250 (B) 1080 (C) 1100 (D) 968

Ans. D

33. IF(3x—-7)% + (3x-8)> + (3x+6)% = 3 (3x-7) (3x-8) (3x+6), then what is the value of x?
(A)3 (B)1(C)4 (D)2

Ans. B

34. 3R a® + b? = 135 3R ab=7,(a > O,b > 0) & @ (&> -b°) FT A &
(A) 1350 (B) 1600 (C) 1680 (D) 1562

Ans. D

35. 3R (2x-7)° + (2x-8)° + (2x-3)> = 3 (2x-7) (2x-8) (2x—3) &, A x T AT FIAT &?
(A) 2 (B) 4(C)3 (D)1

Ans. C

36. 3R x* + x* = 1442, (x > 0) &, x+ x' & AT N

(A)2V/10 (B) 4410 (C)3v/10 (D) 15
Ans. A

37.301 x= V3 -2 & a x> =x° & AT g
(A)-22v/3  (B)-22v2 (C) 22v2 (D) 22V3
Ans. b

38. Ifg x=2 - V3 @ x® x> & AT &
(A)=30v2 (B)30vV2 (C) 30v3 (D) —30V3



Ans. d

39. IfE s Vx + 43X = s¥x &, dl x & AT &
(A) 8 (B)2 (C)1 (D)4

Ans. a

40. TfE (x+7)° + (2x+8)° + (2x+3)° = 3 (x+7) (2x+8) (2x+3) & Y x FT AT g2
(A) 3.6 (B)-3.6 (C)2.4 (D)-2.4

Ans. b

41397 3VX + 43x = 53X %',(_‘ﬂ' XEFI'W%Z
(A)16 (B) 8(C)2 (D)4

Ans. a

42. I (x-8)% + (2x+16)° + (2x-13)% = 3(x-8) (2x+16) (2x-13) &, A x FT AT &2
(A)-1 (B)O (C)0.7 (D)1

Ans. d

43. gfe x=2 + V3 & 3 + x° FT AT &
(A)52v3 (B)52 (C)-52 (D) —52V3

Ans. ‘b

44. fE a3 + b3 = 1344 3R a+b=28 & a (a + b)> — 3ab ST &
(A) 16 (B)24 (C)32 (D) 48

Ans. . d

45. Ifa® —b> = 899 TAT a—b=31,a (a—b)> + 3ab X &:
(A)31 (B) 16(C)29 (D)35

Ans. ¢

46. 3R x=2 + V5 &l x> + x° & AT &
(A)40V5  (B) 46v/5(C)34v/5 (D) 365

Ans. ¢

47. I x* + x* = 194 &, (x > 0) & A (2x —-4)* &7 &AL &
(A) 15(B) 20(C) 12 (D) 16
Ans. c

48. AR a+ =3, ¥ A (a° +) TrEF TA grme?
(A) 730 (B)319 (C)322 (D) 780
Ans. ¢

49. IfE,a® + b + P =0 & A (a+b+¢)° Fusd FART ghm?
(A)81 a®b% ¢ (B) 729 a® b® ¢ (C) 81 abc (D) 729 abc

Ans. b
50. TG a® + b? = 169, ab =60, (a>b), Al (a*-b?) THTH TAT GAM?

(A) 149 (B) 129 (C) 139 (D) 119
Ans. d

51. Ifg Bx+1)° + (x-3)> + (4 —-2x)° + 6 (3x+1) (x-3)(x-2) = 0, aF xR §:
(A) 1 (B) 5(C)- 5(D) -1
Ans. d



1 1
52.3-1?1Ta+;=2%',<_-ﬁ(a118+ —57) I HIT FT §?

(A) 1 (B) 118 (C)2 (D)117
Ans. ¢

54. 39X (a+b+4){ab+4(a+b)}—4ab=0 g duT a= —4,b = —4.¢ar {

1

(A0 (B) 0 —5(C) 5 0w

1
(a+b+4)117

- 2—234} T &

Ans. a

55. A a= VB~ V7 ¥ 3R a =1 & LY frgd waA gl

29 29 27 27 ofgaoro®
(Al33 (B) 37 (€ 37(D) 35

Ans. ¢
56. IfE a+b+c=5 3T ab+bc+ca=4 g ar a® + b + -3abc [FTEH TATT FEM?
(A) 72 (B)62 (C)68 (D)65
Ans. d
57. i = & T x, v, z OellcAs dIEdidsh E&AU §, Ife
(x+y)® =22 = 8, (y+2)°x°= 10 3R (x+2)? —y* = 7 § A (x+y+z) [Fas TART grom?
(A)6 (B)7 (C) 5(D)8
Ans. c

58. A (x-7)° + (2x+8)® + (2x-3)® = 3(x-7) (2x+8) (2x-3) &, A x T AT FAT §?
(A) 1.6 (B) 1.2(C)2.4 (D)0.4
Ans. d

59. Ife x=2 + V3 & xX° — x> &7 AT &
(A) -52 (B)-30v3 (C)30vV3 (D) 52
Ans. ¢
60. IfE 64 + 84% = 10"* & QY xar AR &

(A) 8 (B) 2(C) 16 (D)4
Ans. ¢
61. Ife x* + x* = 47, (x > 0) &, A (2x-3)* &1 AT &:
(A) 2 (B)5 (C)4 (D)3
Ans. b
62. 39X a’ + b? = 88 3R ab=6, (a >0, b>0) & ar (a° + b®) =T AT FT &?

(A) 1180 (B) 820 (C) 1000 (D) 980
Ans. b
63. 3R 5V% + 12 = 13%% & ar x & AT M
(A)4 (B)8 (C)1 (D)2
Ans. b
64. 3R (2x+7)° + (2x+8)° + (2x+3)% = 3 (2x+7) (2x+8) (2x+3) &, d x FT AT FAT &7

(A) 2 (B)3 (C)-3 (D)-2
Ans. ¢

65. TfE x=2 - V3 @ x> x> &7 AT &
(A) =302 (B) 30v2(C) 30v3 (D) —30V3



Ans. d
66. 39X a2 + b® = 88 3T ab=6, (a >0, b>0) &, & (a° + b%) F AT FAT &?
(A) 1180 (B) 820 (C) 1000 (D) 980

Ans. b

68. T T o ; ((a+2)° —(a— DA} AW ¥
(Al (B) (04 (D) 1

Ans. d

69. a, b, ¢ dId YalcA® TEIAT 37 YR & & (a+b+c) = 20, a’ + b? + ¢®> = 152 §| (ab +
bc + ca) F A T &

(A) 110 (B) 102 (C)112 (D) 124
Ans. d
1 1

70.3PR a + - = 2§, dl a' — & He7 F1 g2
(A);  (B) 4(C) 1(D) O
Ans. d

71. & a+b-c=12 3R a? + b2 + & = 110 &, O A=fof@a & & = ar geer & g2
(a) (A) ab+bc+ca=34 (B) ab+bc—ca=17(C) ab—-bc+ca=17 (D) ab—bc—ca=17

Ans. b
72. AR D (1- 2.43 x107) = 1.417 + x¥, A xR &:

(A) 0.0417 (B)0.81 (C) 0.417 (D)0.0081
Ans. d

73. Ifc (8x3—27y3)+(2x-3y)=(Ax2+Bxy+Cy2)%, ar (2A+B-C) FT AT &:
(A) 5 (B)4 (C)6 (D)3

Ans. ‘a

74. AR x=a+— AR y=a- = F A [x* +y7— 2x7y? TR &
(A) 162° (B)= (C) 4 (D)8

Ans. ¢

75. T 4x°-6x+1 = 0 & 83 + (8°)! &r AT &:
(A) 36 (B)13 (C) 11 (D) 18

Ans. d

76. TE x+y+2=0 g ar (x2 +y2 + 22) +(22—xy)$r AT &
(A) -2 (B)2 (C)-1 (D)1

Ans. b

77. TG a2 + b2 + 2 + 27 = 6(a+b + o)§, @ Va3 + b3 — ¢3T AT &
(A) 3(B)9 (C) 6 (D)1

Ans. a

78. TIE x+y+z=19, x°+y’+2%> = 133 3 xz=y? & 23R x&F 9T 3K &
(A) 6 (B) 5(C) 3 (D)4

Ans. b

79. I x* + x* = 194,x > 0 & @ (x—2)° T AT FIT B2



(A) 6 (B)3 (C)2 (D)1

Ans. b

80. afE (5v5x°-81V3y®) = (VBx— 3v3y) = (Ax? + By? + Cxy) &, @ (BA+B— V15C) T HT FIT gHM?
(A) 10 (B)15 (C)9 (D) 12

Ans. d

81. I 16x% + 9y? + 47% = 24(x-y+2)-61 &, a6 (xy+2z) ST HT G
(A) 1(B) 2(C) 5 (D)3

Ans. ¢

82. IfS [8(x+y)3-27(x—y)3]+ (5y—x)=Ax2+Bxy+Cy2 g, dl (A+B+C) & HAT gH:;
(A) 26 (B)19 (C)13 (D) 16

Ans. d

83. I x +y + z =19, xy+yz+zx = 114 §, a  /x3 +y3 + 23 — 3xyz H Al M
(A) 17 (B) 13 (C)19 (D)21

Ans. ¢

84. Ifa® + b®> + 64c®> + 16c+3 = 2(a+b), then the value of 4a’+b’+8c? is:

¢ 1 1 7
(A) 3§ (B)5§ (C) 4§ (D) 4§

Ans. b
85. If (27x° - 343y°)+ (3x— 7y) = AX®> + By? + 7Cyx, then the value of (4A - B +
5C) is:
(A) 3 (B)1 (C)0 (D)2
Ans. d

86. T x+y=12 3T xy=27,x > y, & a (x°-y°) &1 AT &
(A) 720 (B) 710 (C) 724 (D) 702

Ans. d

87. TR x> + y2 + 22 = 133 xy+yz+ 2x=114 § 3R xyz=216 & at x> + y* + 22 &7 A &
(A) 999 (B) 948 (C) 1009 (D) 942

Ans. ¢

88. TG 2x* + y? + 6x—2xy+9 = 0 & ar (4x3— yS + x2y2) FT AT &
(A) 0 (B)-3 (C)-9 (D)9

Ans. a

89. Ifg x* —-6x% -1 =0%,F|Tx6—5x2+xiz—$+55h'r¥|'l?f%’:
(A) 239 (B)204 (C)209 (D)219

Ans. ¢

90. IfE x=2 —p& @ x° + Bxp+p° WK &
(A) 12 (B) 6(C) 8 (D)4

Ans. ¢

91. ARG (6 -2v2y°) + (x— v2y) = (AX® + Bxy+Cy°) &, @ (2A+4V2B—4C) = ?
(A) 1(B) 0(C) 2 (D)4

Ans. ¢

92. I x* —3x—-1 = 0,ar (x* + 8-1)(x* + x)" &1 &AL &:
(A)8 (B) & (C) 1 (D)3



Ans. c
93. Ifg (135V5x° - 2v2y°) + (3v/5x - \/Ey) = Ax>+By?+V10Cxy, a¥ (A + B — 9C) FT AT &:
(A) 18 (B)12 (C)10 (D)20

Ans. d
-— 1 .
94, Ifg ——=— (2x2+5x 5 = 1Lx>0,a X+ — e B
() 27 &) 2202 (o) VT
Ans. b

95. TG (8x*+27y%)+ (2x + 3y) = (AX°+Bxy+Cy?), @l (5A + 4B + 3C) & Hed ¢
(A) 27 (B)26 (C)23 (D) 24

Ans. c

97. TG a:b=3 : 2 g ar (5a + 2b) : (3a + 4b) ST &
(A) 19:17 (B)8:7 (C)17:14 (D) 16:15

Ans. a

98. uﬁ\/—-——4‘s"a’rx +—aTraT‘5"
(A) 192 (B) 322 (C) 256 (D)326

Ans. b

99. TfE a+b+c=13 3N ab+bc+ca=54 & al a° + b° + ¢ — 3abe fFaF ST QIM?
(A) 182 (B)273 (C) 793 (D) 91

Ans. d

100. T x—5vx - 1 =0‘5",a’rx2+xizaw%:
(A) 727 (B) 729 (C)625 (D) 731

Ans. .a

101. T a+b+c=11 3 ab+bc+ca=38 & ar a° + b> + - 3abc W ¢
(A) 44 (B) 77(C)55 (D) 66

Ans. 'b

102. X x+ = =V5§, ?-rTx3+Xi3aT|aT%:
(A) 45 (B) 3v5 (C) 25 (D) 5V5

Ans. 'C

103. ¢ a+b+c=8 3 ab+bc+ca=12 & ar a® + b> + ¢ - 3abc X &
(A) 192 (B) 144 (C)400 (D) 224

Ans. d

104. IfE a+b=5 3R ab=3 § @ (a° + b®) &1 AT FT gHM?
(A) 75(B) 65 (C) 80 (D) 70

Ans. ¢

105.uﬁ&+%=\/§%,a’rx2+xizw%:
(A) 16 (B)14 (C) 62 (D) 36
Ans. b

106. I &—% = V6 B, ar X'+ T &

(A) 54 (B)62 (C) 40 (D) 66
Ans. b

107. ITE a+b+c=4 T ab+bc+ca=2 g @ a° + b° + ¢ —3abc T ¢



Ans.

108

Ans.

109

Ans.
110.

Ans.

111

Ans.

112

Ans.

113

Ans.

114

Ans.

115

Ans.

116

Ans.
117.

Ans.

118

Ans.

119

Ans.

120

Ans.

121

(A)36 (B)32 (C)48 (D)40
d

. If& a+b=8 3R ab= %%’,HT(a3+b3) e &
(A) 256 (B) 384 (C)128 (D) 320

a

AR VR4 = VT R+ L R

(A) 120 (B) 110 (C) 140 (D)130

b

IfE (a+b)=6 3T ab=8 & a (° + b’) W &:
(A) 72 (B)108 (C) 144 (D)216

a
. g &+Ji§ = 2V2 &, X'+ T
(A)34 (B)32 (C) 36 (D) 64
a
. IT a+b+c=6 3 ab+bc+ca=5 § a a*+b>+c>-3abc & &
(A) 98 (B) 108 (C) 126 (D) 116

c

.aﬁ:&—%=2x/§ &+ TR E:
(A) 100 (B) 98 (C) 102 (D) 104

b

. IT a+b+c=7 dUT ab+bc+ca=1 g dl a° + b° + ¢ —3abc T ¢
(A) 422 (B) 322 (C) 412 (D) 325

b

. TT a-b=5 AT ab=2 &, a° —b° s ¢:
(A) 95 (B) 145 (C) 125 (D) 155

d

.uﬁ\/'-%=3x/§%,a’rx2+xizw%:

(A) 402 (B) 324 (C)326 (D) 398
d
Ife (a-b)=4 TAT ab=2, @ (> - b°) N &
(A) 88 (B)80 (C)84 (D)92
a
. IfE a+b+c=8,TUT ab+bc+ca=20 & ar a° + b + ¢ 3abc TN ¢:
(A)32 (B)30 (C)36 (D)24

d

AR VX- == VB B A+ o TR &
(A) 45 (B)49 (C) 47 (D)51

C

. IC a+b+c=10 3 ab+bc+ca=32 & ar a° + b° + ¢ - 3abc W& &
(A) 60 (B)40 (C) 50 (D) 70

b

. I a-b=5 dAT ab=6 § a (a° -b’) WK &:



(A) 215 (B) 155 (C)90 (D) 225
Ans. a
122.aﬁa-§=3%,a’ra6+aiew%z
(A) 996 (B) 729 (C) 1298 (D) 1331
Ans. ¢

123. IR x+ — = 4 A X° + - WK ¢
(A) 52 (B)64 (C)40 (D)50

Ans. a

124. If¢ a° —b® = 210 3R a-b=5 §, @ (a+ b)? —ab R §:
(A)52 (B)42 (C) 38 (D) 32

Ans. b

125. Ife (x-4)> + (x=5)> + (x=3)% = 3(x—4) (x=5) (x=23) &, A x I AT FAT IEM?
(A) 7 (B) 4 (C) 18 (D) 6

Ans. b

126. AR Vx+ = = V6 &l & + 5 WK &
(A) 14 (B) 16 (C) 12 (D) 18
Ans.' a
127. Tf& ab+bc+ca=8 3R a? + b2 + 2 =20 & % (@+b+0)[( - b + (b—c)® + (c—a)’] &1
T IHT AW &
(A) 84 (B)56 (C) 72 (D) 80
Ans. .C
128. If x + y = 1 and xy(xy - 2) = 12, then the value of x* + y* is:

(A)19 (B)23 (C)25 (D) 20
Ans. ¢C

129. If a’ + b’ + ¢ =21, and a + b + ¢ = 7, then (ab + bc + ca) is eual to:

(A) 14 (B)8 (C)12 (D) 28
Ans. ‘a

130. TfE 9a%+4b%+c?+21 = 4(3a+b-2c), A (Qa+db-c) HT ATA §:
(A) 12 (B)2 (C)16 (D)6

Ans. a

131. IfE (3x-1)° + (4x-3)> + (2x+1)> = 3(3x-1)(4x-3)(2x+ 1) 3R x i%%’,FITX:?
(A) 1 (B)5 (C) 2(D) 5

Ans. ¢

132. AR (a+b)=6 H ab= T FA (2> + b%) T &
(A) 150 (B) 190 (C) 220 (D) 120

Ans. d

133. ¢ a+b+c=6 3 ab+bc+ca=4 § a a>+b>+c® — 3abc ST &
(A) 144 (B) 148 (C) 154 (D) 160

Ans.

a
134. fE a+b=5 3 ab=3 & ar (@° + b°) WK ¢



(A) 70 (B) 80 (C) 65 (D) 75
Ans. b

135. TG a+b+c=6 3R a® + b> + ¢ —3abc=126 & AT ab + bc + ca e ¢
(A) 6 (B) 8(C) 12 (D) 5
Ans. d

136. T (V24 V5 — V3)xk=-12,al kT AT FAT GaM?

a. (A)V2++V5++V3 (B) (V2+ V5—-+3) 2+ V5) (C) (V2+ V5 +V3) 2= V5) (D)
(V2 + V5 + V3) (2- V10)

Ans. d

137. IfE 2v2x°-3V3y® = (V2x —V3y)(Ax% + By? + Cxy) &, A2 + B%=C? &l AT &2
(A) 19 (B)10 (C) 11 (D) 7
Ans. d



